### IMPROVED UPPER BOUNDS OF PROBABILITY

MIN-YOUNG LEE AND MOON-SHIK JO

ABSTRACT. Let  $A_1, A_2, \cdots, A_n$  be a sequence of events on a given probability space. Let  $m_n$  be the number of those  $A_j's$  which occur. Upper bounds of  $P(m_n \ge 1)$  are obtained by means of probability of consecutive terms which reduce the number of terms in binomial moments  $S_{2,n}, S_{3,n}$  and  $S_{4,n}$ .

### 1. Introduction

Several problems of probability theory lead to the need of estimating the distribution of the number  $m_n = m_n(A)$  of occurrences in a sequence  $A_1, A_2, \dots, A_n$  of events. When the estimation of this distribution is in terms of linear combinations of the binomial moments of  $m_n(A)$ , we speak of Bonferroni-type inequality. That is, let

(1.1) 
$$S_{k,n} = E\left[\binom{m_n}{k}\right], \qquad 0 \le k \le n.$$

Then, with constants  $c_{k,n}(r)$  and  $d_{k,n}(r)$ ,  $0 \le k \le n$ ,  $r \le 0$ , the inequalities

(1.2) 
$$\sum_{k=0}^{n} d_{k,n}(r) S_{k,n} \le P(m_n(A) = r) \le \sum_{k=0}^{n} c_{k,n}(r) S_{k,n}$$

are called Bonferroni-type inequality. Here the term constant means that  $c_{k,n}(r)$  and  $d_{k,n}(r)$  do not depend on the underlying probability space and nor on the choice of the events  $A_1, A_2, \dots, A_n$ .

Received December 12, 2002.

<sup>2000</sup> Mathematics Subject Classification:  $60\mathrm{E}15,\,62\mathrm{E}10.$ 

Key words and phrases: binomial moment, Bonferroni-type inequality, method of indicators.

The present research was conducted by the research fund of Dankook University in 2002.

By turning to indicator variables we immediately get that, for  $1 \le k \le n$ ,

(1.3) 
$$S_{k,n} = \sum P(A_{i_1} \cap A_{i_2} \cap \dots \cap A_{i_k}),$$

where the summation is over all subscripts satisfying  $1 \le i_1 < i_2 < \cdots < i_k \le n$ .

Kounias [4] has proved that

(1.4) 
$$P(\cup_{i=1}^{n} A_i) \le \sum_{i=1}^{n} P(A_i) - \max_{j} \sum_{i \ne j} P(A_i \cap A_j)$$

which improves on the simple Bonferroni upper bound of  $\sum P(A_i)$ . Margolin and Maurer [7] generalize this result by using more than just  $\sum P(A_i)$  from the classical estimates. Hunter [3], whose result is reobtained in the paper of Worsley [9], presents an improved upper bound which is constructed by edges on a graph.

Lee [6] has proved that

$$(1.5) P(m_n \ge 1) \le S_{1,n} - \sum_{i < j \le i+2} P(A_i \cap A_j) + \sum_{i=1}^{n-2} P(A_i \cap A_{i+1} \cap A_{i+2}).$$

Taking averages which over  $i = 1, 2, \dots, n$  of (1.5), we get the following Bonferroni-type inequality.

$$P(m_n \ge 1) \le S_1 - \frac{(2n-3)}{\binom{n}{2}} S_2 + \frac{(n-2)}{\binom{n}{3}} S_3.$$

This inequality is known that it is the best possible upper bound in terms of  $S_1, S_2$  and  $S_3$  (see Kwerel [5]).

The classical lower bound of degree four is

$$S_{1,n} - S_{2,n} + S_{3,n} - S_{4,n} \le P(m_n \ge 1)$$

and our idea is to reduce the number of terms in  $S_{2,n}$ ,  $S_{3,n}$  and  $S_{4,n}$  in order to get an upper bound. For a related idea, see the graph-dependent models of Renyi [8] and Galambos [2].

In this direction, we obtain the inequalities of the theorems that follow.

### 2. The results

The upper bounds are improved by the following results.

Theorem 1. For positive integers  $n \geq 4$ ,

$$(2.1) P(m_n \ge 1)$$

$$\le S_{1,n} - \sum_{i < j \le i+3} P(A_i \cap A_j) + \sum_{i=1}^{n-2} P(A_i \cap A_{i+1} \cap A_{i+2})$$

$$+ \sum_{i=1}^{n-3} [P(A_i \cap A_{i+1} \cap A_{i+3}) + P(A_i \cap A_{i+2} \cap A_{i+3})]$$

$$- \sum_{i=1}^{n-3} P(A_i \cap A_{i+1} \cap A_{i+2} \cap A_{i+3}).$$

Taking the averages of the above upper bound over  $i = 1, 2, \dots, n$ , we get Theorem 2.

Theorem 2. For positive integers  $n \geq 4$ ,

$$(2.2) P(m_n \ge 1) \le S_1 - \frac{3(n-2)}{\binom{n}{2}} S_2 + \frac{3n-8}{\binom{n}{3}} S_3 - \frac{n-3}{\binom{n}{4}} S_4.$$

## 3. Proofs

PROOF OF THEOREM 1. We use the method of indicators. That is, let  $I(A_{i_1} \cap A_{i_2} \cap \cdots \cap A_{i_k})$  be 1 if  $A_{i_1} \cap A_{i_2} \cap \cdots \cap A_{i_k}$  occurs or 0 otherwise.

Then  $I(A_{i_1} \cap A_{i_2} \cap \cdots \cap A_{i_k}) = I(A_{i_1})I(A_{i_2})\cdots I(A_{i_k})$  and  $E[I(A_{i_1} \cap A_{i_2} \cap \cdots \cap A_{i_k})] = P(A_{i_1} \cap A_{i_2} \cap \cdots \cap A_{i_k})$ . Furthermore, the indicator variable  $I(m_n \geq 1)$  is 1 if  $m_n \geq 1$  and 0 if  $m_n = 0$ . Note also that  $\sum_{i=1}^n I(A_i) = m_n$  and  $S_{1,n} = E[m_n]$ .

We thus have to prove

$$m_n - \sum_{i < j \le i+3} I(A_i)I(A_j) + \sum_{i=1}^{n-2} I(A_i)I(A_{i+1})I(A_{i+2})$$

$$(3.1) + \sum_{i=1}^{n-3} [I(A_i)I(A_{i+1})I(A_{i+3}) + I(A_i)I(A_{i+2})I(A_{i+3})] - \sum_{i=1}^{n-3} I(A_i)I(A_{i+1})I(A_{i+2})I(A_{i+3}) \ge 1$$

if  $m_n \ge 1$  and the left hand side of (3.1) is greater than zero or equal to zero if  $m_n = 0$ .

The latter case is evident, having zero on both sides. Also, if  $m_n = 1$ , both side of (3.1) equal 1 and if  $m_n = 2$ , left hand side of (3.1) is  $2 - \binom{0}{1} \ge 1$ .

Hence, for the sequel we may assume  $m_n \geq 3$ .

Next, we place the events  $A_1, A_2, \dots, A_n$  at every sample point into blocks which consist of events of the kind  $A_{j+1} \cap \dots \cap A_{j+k_j}$ , which is a full block if neither  $A_j$  nor  $A_{j+k_j+1}$  occurs. Assume that in this way, at a given sample point, we have t blocks. We distinguish six cases.

case (i): For all  $j, k_j \geq 3$ ; that is, every full block has at least three events. We can express

$$\sum_{i < j \le i+3} I(A_i)I(A_j),$$

$$\sum_{i=1}^{n-2} I(A_i)I(A_{i+1})I(A_{i+2}) + \sum_{i=1}^{n-3} [I(A_i)I(A_{i+1})I(A_{i+3}) + I(A_i)I(A_{i+2})I(A_{i+3})]$$

and

$$\sum_{i=1}^{n-3} I(A_i)I(A_{i+1})I(A_{i+2})I(A_{i+3})$$

by means of blocks; that is, if the t blocks have length  $k_j, 1 \leq j \leq t$ , then the above sums equal

$$(3.2) \quad \sum_{j=1}^{t} 3(k_j - 2) + \begin{pmatrix} 0 \\ 1 \\ \vdots \\ 3(t-1) \end{pmatrix}, \ \sum_{j=1}^{t} [3(k_j - 3) + 1] + \begin{pmatrix} 0 \\ 2 \\ \vdots \\ 2(t-1) \end{pmatrix}$$

and  $\sum_{j=1}^{t} (k_j - 3)$ , respectively, where

$$\begin{pmatrix} 0 \\ 1 \\ \vdots \\ 3(t-1) \end{pmatrix}$$

denotes the number  $\sum_{j=1}^{t-1} L_d^j, L_d^j$  being 3 if d=2 and 1 if d=3 and 0 if  $d\geq 4$  and

$$\begin{pmatrix} 0 \\ 2 \\ \vdots \\ 2(t-1) \end{pmatrix}$$

denotes the number  $\sum_{j=1}^{t-1} L_d^j, L_d^j$  being 2 if d=2 and 0 if  $d\geq 3$  and d is the difference between last number of j-th block and first number of next one. Since  $\sum_{j=1}^t k_j = m_n$ , by (3.2), the left hand side of (3.1) becomes

$$t - \begin{pmatrix} 0 \\ 1 \\ 2 \\ \vdots \\ t - 1 \end{pmatrix} \ge 1.$$

Hence, we get (3.1).

case (ii) : For all  $j,\ k_j=2$  ; that is, every full block has only two events. We have

(3.3) 
$$\sum_{i < j \le i+3} I(A_i)I(A_j) = \sum_{j=1}^t 1 + \begin{pmatrix} 0 \\ 1 \\ \vdots \\ 3(t-1) \end{pmatrix},$$

(3.4) 
$$\sum_{i=1}^{n-2} I(A_i)I(A_{i+1})I(A_{i+2}) + \sum_{i=1}^{n-3} [I(A_i)I(A_{i+1})I(A_{i+3}) + I(A_i)I(A_{i+2})I(A_{i+3})] = \sum_{j=1}^{t} 0 + \begin{pmatrix} 0 \\ 2 \\ \vdots \\ 2(t-1) \end{pmatrix}$$

and

(3.5) 
$$\sum_{i=1}^{n-3} I(A_i)I(A_{i+1})I(A_{i+2})I(A_{i+3}) = 0.$$

Since  $\sum_{j=1}^{t} 2 = 2t = m_n$ , in view of (3.3), (3.4) and (3.5), the left hand side of (3.1) is

$$t - \begin{pmatrix} 0 \\ 1 \\ 2 \\ \vdots \\ t - 1 \end{pmatrix} \ge 1.$$

Once again, (3.1) obtains.

case (iii) : For all  $j,\,k_j=1$  ; that is, every full block has only one event. We now have

(3.6) 
$$\sum_{i < j \le i+3} I(A_i)I(A_j) = \sum_{j=1}^t 0 + \begin{pmatrix} 0 \\ 1 \\ 2 \\ \vdots \\ t-1 \end{pmatrix},$$

(3.7) 
$$\sum_{i=1}^{n-2} I(A_i)I(A_{i+1})I(A_{i+2}) + \sum_{i=1}^{n-3} [I(A_i)I(A_{i+1})I(A_{i+3}) + I(A_i)I(A_{i+2})I(A_{i+3})] = 0$$

and

(3.8) 
$$\sum_{i=1}^{n-3} I(A_i)I(A_{i+1})I(A_{i+2})I(A_{i+3}) = 0.$$

Since  $\sum_{j=1}^{t} 1 = t = m_n$  in view of (3.6), (3.7) and (3.8), the left hand side of (3.1) is

$$t - \begin{pmatrix} 0 \\ 1 \\ 2 \\ \vdots \\ t - 1 \end{pmatrix} \ge 1.$$

Once again, (3.1) obtains.

case (iv): There exist some i, j and r with  $k_i = 1, k_j = 2$  and  $k_r \ge 3$ ; that is, there are several blocks which have only one, two and at least three events at the same time.

Assume that we have  $t_1, t_2, t_3$  blocks where they consist  $t_1$  blocks with  $k_r \geq 3$ ,  $t_2$  blocks with  $k_j = 2$ ,  $t_3$  blocks with  $k_i = 1$ . We now have (3.9)

$$\sum_{i < j \le i+3} I(A_i)I(A_j) = \sum_{r=1}^{t_1} 3(k_r - 2) + \sum_{j=1}^{t_2} 1 + \begin{pmatrix} 0 \\ 1 \\ \vdots \\ 3t_1 + 3t_2 + t_3 - 1 \end{pmatrix},$$

$$\sum_{i=1}^{n-2} I(A_i)I(A_{i+1})I(A_{i+2})$$

$$+ \sum_{i=1}^{n-3} [I(A_i)I(A_{i+1})I(A_{i+3}) + I(A_i)I(A_{i+2})I(A_{i+3})]$$

$$= \sum_{r=1}^{t_1} [3(k_r - 3) + 1] + \begin{pmatrix} 0\\1\\\vdots\\2(t_1 + t_2) \end{pmatrix} \text{ and }$$

(3.11) 
$$\sum_{i=1}^{n-3} I(A_i)I(A_{i+1})I(A_{i+2})I(A_{i+3}) = \sum_{r=1}^{t_1} (k_r - 3), \text{ respectively.}$$

Since  $\sum_{r=1}^{t_1} k_r + \sum_{j=1}^{t_2} 2 + \sum_{i=1}^{t_3} 1 = m_n$ , in view of (3.9), (3.10) and (3.11), the left hand side of (3.1) is

$$t - \begin{pmatrix} 0 \\ 1 \\ 2 \\ \vdots \\ t - 1 \end{pmatrix} \ge 1.$$

Once again, (3.1) obtains.

case (v): There exist some i and j with  $k_i = 2$ ,  $k_j \ge 3$ ; that is, every full block has two and at least three events. Assume that we has  $t_1, t_2$ 

blocks where they consist  $t_1$  blocks with  $k_j \geq 3$ ,  $t_2$  blocks with  $k_i = 2$ . We now have (3.12)

$$\sum_{i < j \le i+3} I(A_i)I(A_j) = \sum_{j=1}^{t_1} 3(k_j - 2) + \sum_{i=1}^{t_2} 1 + \begin{pmatrix} 0 \\ 1 \\ \vdots \\ 3(t_1 + t_2 - 1) \end{pmatrix},$$

$$\sum_{i=1}^{n-2} I(A_i)I(A_{i+1})I(A_{i+2})$$

$$+ \sum_{i=1}^{n-3} [I(A_i)I(A_{i+1})I(A_{i+3}) + I(A_i)I(A_{i+2})I(A_{i+3})]$$

$$= \sum_{j=1}^{t_1} [3(k_j - 3) + 1] + \begin{pmatrix} 0 \\ 1 \\ \vdots \\ 2(t_1 + t_2 - 1) \end{pmatrix}$$

and

(3.14) 
$$\sum_{i=1}^{n-3} I(A_i)I(A_{i+1})I(A_{i+2})I(A_{i+3}) = \sum_{j=1}^{t_1} (k_j - 3).$$

Since  $\sum_{j=1}^{t_1} k_j + \sum_{i=1}^{t_2} 2 = m_n$ , in view of (3.12), (3.13) and (3.14), the left hand side of (3.1) is

$$t - \begin{pmatrix} 0 \\ 1 \\ 2 \\ \vdots \\ t - 1 \end{pmatrix} \ge 1.$$

Once again, (3.1) obtains.

case (vi): There exist some i and j with  $k_i = 1, k_j \ge 3$  or  $k_i = 1, k_j = 1$ 

2. In the same manner as in (v), we get (3.1).

PROOF OF THEOREM 2. Let  $A_1, A_2, \dots, A_n$  be a sequence of events on a given probability space, and let  $x = m_n$  be the number of those  $A'_j s$  which occur.

By the binomial moments of (1.1), the right hand side of (2.2) becomes

(3.15) 
$${x \choose 1} - \frac{3(n-2)}{\binom{n}{2}} {x \choose 2} + \frac{3n-8}{\binom{n}{3}} {x \choose 3} - \frac{n-3}{\binom{n}{4}} {x \choose 4}.$$

We thus have to prove that

$$(3.16) f(x) = {x \choose 1} - \frac{3(n-2)}{{n \choose 2}} {x \choose 2} + \frac{3n-8}{{n \choose 3}} {x \choose 3} - \frac{n-3}{{n \choose 4}} {x \choose 4} \ge 1$$

if  $x \ge 1$  and (3.15) is greater than zero or equal to zero if x = 0.

The latter case is evident, having zero on both sides. Also, if x=1, both side of (3.16) equal 1 and if x=2, left hand side of (3.16) is  $2-\frac{6(n-2)}{n(n-1)}\geq 1$  for  $n\geq 2$  and if x=3, left hand side of (3.16) is  $3-\frac{18(n-2)}{n(n-1)}+\frac{6(3n-8)}{n(n-1)(n-2)}\geq 1$  for  $n\geq 3$ . Hence, for the sequel we may assume  $x\geq 4$ .

Let g(x) = f(x) - 1. We must prove that  $g(x) \ge 0$  for any integer values  $x, 4 \le x \le n$ .

Then

$$g(x) = {x \choose 1} - \frac{3(n-2)}{{n \choose 2}} {x \choose 2} + \frac{3n-8}{{n \choose 3}} {x \choose 3} - \frac{n-3}{{n \choose 4}} {x \choose 4} - 1$$
$$= -(x-1)(x-(n-2))(x-(n-1))(x-n).$$

Now, for any positive integers the polynomial g(x) obtains its minimum value 0 at x = 1, n - 2, n - 1, n.

Hence, for any integers  $x \geq 4$ ,  $g(x) \geq 0$ .

This completes the proof.

## 4. Numerical examples

EXAMPLE 4-1. Let  $X_j$  be the time to failure of the j-th component of a piece of equipment. Assume that each  $X_j$  is a unit exponential variate; that is, for each j,

$$P(X_i < x) = 1 - e^{-x}, (x > 0).$$

Consider a group of five components,  $X_1, X_2, X_3, X_4, X_5$ . We assume that we just know the following information.

- (a)  $X_i$  is dependent on  $X_{i+1}$ ,  $X_{i+2}$  and  $X_{i+3}$ ; that is,  $X_1$  and  $X_2$  are dependent, so are  $X_1$  and  $X_3$ ,  $X_1$  and  $X_4$ ,  $X_2$  and  $X_3$ ,  $X_2$  and  $X_4$ ,  $X_2$  and  $X_5$ ,  $X_3$  and  $X_4$ ,  $X_3$  and  $X_5$ , finally,  $X_4$  and  $X_5$ .
- (b)  $X_i, X_{i+1}$  and  $X_{i+2}$  are dependent on each other and  $X_i, X_{i+1}$  and  $X_{i+3}$  are dependent on each other and  $X_i, X_{i+2}$  and  $X_{i+3}$  are dependent on each other.; that is,  $X_1, X_2$  and  $X_3$  are dependent, so are  $X_1, X_2$  and  $X_4, X_1, X_2$  and  $X_4, X_1, X_3$  and  $X_4, X_2, X_3$  and  $X_4, X_2, X_3$  and  $X_5, X_2, X_4$  and  $X_5$ , finally  $X_3, X_4$  and  $X_5$ .
- (c)  $X_i, X_{i+1}, X_{i+2}$  and  $X_{i+3}$  are dependent on each other: that is,  $X_1, X_2, X_3$  and  $X_4$  is dependent, so are  $X_2, X_3, X_4$  and  $X_5$ .

No other information is available on the interdependence of the components. We also specify the multivariate distributions of the  $X_j$ .

For simplicity, let the multivariate distributions for all dependent components specified in (a), (b) and (c) be the same. Let

$$\begin{split} &P(X_1 < x, X_2 < y) \\ &= P(X_1 < x, X_3 < y) = P(X_1 < x, X_4 < y) = P(X_2 < x, X_3 < y) \\ &= P(X_2 < x, X_4 < y) = P(X_2 < x, X_5 < y) = P(X_3 < x, X_4 < y) \\ &= P(X_3 < x, X_5 < y) = P(X_4 < x, X_5 < y) \\ &= (1 - e^{-x})(1 - e^{-y})(1 - \frac{1}{2}e^{-x-y}), \\ &P(X_1 < x, X_2 < y, X_3 < z) \\ &= P(X_2 < x, X_3 < y, X_4 < z) = P(X_3 < x, X_4 < y, X_5 < z) \\ &= P(X_1 < x, X_2 < y, X_4 < z) = P(X_2 < x, X_3 < y, X_5 < z) \\ &= P(X_1 < x, X_3 < y, X_4 < z) = P(X_2 < x, X_4 < y, X_5 < z) \\ &= P(X_1 < x, X_3 < y, X_4 < z) = P(X_2 < x, X_4 < y, X_5 < z) \\ &= (1 - e^{-x})(1 - e^{-y})(1 - e^{-z})(1 - \frac{1}{3}e^{-x-y-z}), \\ &P(X_1 < x, X_2 < y, X_3 < z, X_4 < u) \\ &= P(X_2 < x, X_3 < y, X_4 < z, X_5 < u) \\ &= (1 - e^{-x})(1 - e^{-y})(1 - e^{-z})(1 - e^{-u})(1 - \frac{1}{4}e^{-x-y-z-u}). \end{split}$$

No further assumption is made.

We would like to estimate  $P(W_5 \ge x)$  where  $W_5 = \min(X_1, X_2, X_3, X_4, X_5)$ . We choose the events  $A_j = (X_j < x)$  and then  $(m_5 = 0) =$ 

 $(W_5 \ge x)$ . For a numerical calculation, let us choose x = 0.1. We then estimate  $P(W_5 \ge 0.1)$ . We have

$$S_{1,5} = \sum_{i=1}^{5} P(A_i) = 5(1 - e^{-0.1}) = 0.4758,$$

$$\sum_{i < j \le i+3} P(A_i \cap A_j) = 9[(1 - e^{-0.1})^2 (1 - \frac{1}{2}e^{-0.2})] = 0.0481,$$

$$\sum_{i=1}^{3} P(A_i \cap A_{i+1} \cap A_{i+2}) + \sum_{i=1}^{2} [P(A_i \cap A_{i+1} \cap A_{i+3})$$

$$+ P(A_i \cap A_{i+2} \cap A_{i+3})] = 7[(1 - e^{-0.1})^3 (1 - \frac{1}{3}e^{-0.3})] = 0.0045$$

and

$$\sum_{i=1}^{2} P(A_i \cap A_{i+1} \cap A_{i+2} \cap A_{i+3}) = 2[(1 - e^{-0.1})^4 (1 - \frac{1}{4}e^{-0.4})] = 0.0001.$$

Theorem 1 now gives  $P(m_n \ge 1) \le 0.4321$ .

EXAMPLE 4-2. Consider a numerical example 2 in the paper of Bukszar and Prekopa [1]. Let  $A_1, A_2, A_3, A_4, A_5$  be events with the following probabilities;  $P_1 = P_2 = P_3 = P_4 = P_5 = 0.38$   $P_{1,2} = 0.15$ ,  $P_{1,3} = 0.13$ ,  $P_{1,4} = 0.14$ ,  $P_{1,5} = 0.12$ ,  $P_{2,3} = 0.20$ ,  $P_{2,4} = 0.21$ ,  $P_{2,5} = 0.18$ ,  $P_{3,4} = 0.19$ ,  $P_{3,5} = 0.16$ ,  $P_{4,5} = 0.17$ ,  $P_{1,2,3} = P_{1,2,4} = P_{1,2,5} = P_{1,3,4} = P_{1,3,5} = P_{1,4,5} = P_{2,3,4} = P_{2,3,5} = P_{2,4,5} = P_{3,4,5} = 0.07$ .

The cherry tree upper bound by Bukszar and Prekopa [1] is following

$$(4.1) P(A_1 \cup A_2 \cup \cdots \cup A_n) \leq S_1 - \sum_{i,j \in \mathcal{E}} P(A_i \cap A_j).$$

 $+ P(A_i \cap A_{i+2} \cap A_{i+3}) = 0.49,$ 

This yields  $P(A_1 \cup A_2 \cup \cdots \cup A_5) \leq 0.87$ .

Now we have

$$S_1 = \sum_{i=1}^{5} P(A_i) = 1.9, \qquad \sum_{i < j \le i+3} P(A_i \cap A_j) = 1.53,$$
$$\sum_{i=1}^{3} P(A_i \cap A_{i+1} \cap A_{i+2}) + \sum_{i=1}^{2} [P(A_i \cap A_{i+1} \cap A_{i+3})]$$

and assume that  $\sum_{i=1}^{2} P(A_i \cap A_{i+1} \cap A_{i+2} \cap A_{i+3}) = 0.07$ . Then theorem 1 gives  $P(m_n \ge 1) \le 0.79$ .

Upper bound for  $P(\bigcup_{i=1}^{5} A_i)$ 

inequality	example 4-1	example 4-2
(1.4)	0.4544	1.16
(1.5)	0.4403	0.96
(4.1)		0.87
(2.1)	0.4321	0.79

In the above table, we see that (2.1) is the best upper bound.

# References

- [1] J. Bukszar and A. Prekopa, *Probability Bounds with cherry trees*, Institute of Management Sciences, 2001, pp. 174–192.
- [2] J. Galambos, On the sieve methods in probability theory I, Studia Sci. Math., Hungar. 1 (1966), 39-50.
- [3] D. Hunter, An upper bound for the probability of a union, J. Appl. Prob. 13 (1976), 597-603.
- [4] E. G. Kounias, Bounds for the probability of a union, with applications, Ann. Math. Stat. 39 (1968), 2154-2158.
- [5] S. M. Kwerel, Bound on the probability of the union and intersection of m events, Adv. Appl. Prob. 7 (1975), 431–448.
- [6] M. -Y. Lee, Bonferroni-type inequalities, Aequationes Mathematicae 44 (1992), 220-225.
- [7] B. J. Margolin and W. Maurer, Tests of the Kolmogorov-Smirnov type for exponential date with unknown scale and related problems, Biometrika 63 (1976), 149-160.
- [8] A. Renyi, A general method for proving theorems in probability theory and some of its applications, Original in Hungarian. Translated into English in: Selected Papers of A. Renyi, Vol. 2, Akademial Kiado, Budapest, (1976), 581-602. (1961).
- [9] K. J. Worsley, An improved Bonferroni inequality and applications, Biometrika 69 (1982), 297–302.

Department of Mathematics Dankook University Cheonan 330-714, Korea E-mail: leemy@dankook.ac.kr

mscho@dankook.ac.kr